Equal 9 step grey scaling betweeb* g;n=30 & L*gaw=80.1,Ypret=1, normalisation white W
L*0an=30.8,L*0a=55.5,L*9an~80.1,Yoan=6.7, Yoam25.7, Yoanw=60.0,Coay=Yoaw: Yoan=9.0
L*taN=32.5,L*ta=56.0,L*taw=80.1, Ytan=7.5, Ytau=26.3, Ytaw=60.0, Gay=Ytaw: YtaN=7-9

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PAL* min] / [AL* max], L* TusrGB.wW = 100 [Y/Yn]IN(10) with Y >= 0,39 = 100/255Y,=100

Yoaw™* Yoref

g%= 99, g%= 99 g%= 95, g¥y= 94 g%= 96, g%5= 94
L* tuBsrGB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1104 *a Al*la
100+ :
Og 80.1 1.0 600 10: 801 6o L0 600 1.0 80.1
751+ T8 739 0875 499 0.8131 740 S0 0873 50.1 0.877 743 o
7 678 075 408 0641 680 . 0746 412 0.754 684 o
6 616 0625 328 049 620 ' 0619 333 0.63 625 '
5 555 05 257 0358 560 .\ 0493 263 0.506 566 o
50+ @4 493 0375 196 0243 500 cg 0368 203 0.381 50.7 g
3 432 025 144 0146 441 o 0243 152 0.256 a7 o
2 370 0125 101 0065 383 .- 012 109 0.13 387
1 308 00 67 00! 325 00 75 0.0 325
25—+ ;
0 s
AL*=6.1 (i=1,2,...8) i normalisation: YtaiW:YOaW\M
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